Cluster: 0136 ptr; resid: 0.58; r/c: 35/76

S=

S8 \ A
Te L
= 4“
2o \
~Y §

Y s AN
6.2

n

SO

N>

o>

S8

85

==

0o

—

.‘lr
AM‘"“ ‘”"“

60

Ipstream meme PSSM #1; e=0.00053 upstream meme PSSM #2; e=630

80

log10(P) upstream meme
19g"94P) upstream me

I
100

log10(P .clust)=-2.09; 35 se

I
120

=

=1

.3
-11.32 =
-8.04 =
-6.16
-6.03 =

—
= —
>Co—1i
RN

al

|

COO00O0O00000O00RFIRFFNNWMWMC
NN DR R0 0000WWWA DWW A
WP WUIOORTTRNOWR AR OORPRN~NNO

01

13 5 7 9 11 13 15 1 6 1 16 21 _
3810854708 -
62 18481 -
33811 47849 -
49511 o0 50857 -
43801
44488 39672 —
33400 49745 47938 -
39243 -
49407 54466 _
9609 48868 5006 -
4908540785 -0.11
55010 3g777 49800 -0.11
33402 47865 -0.10
50090 49488 47500 :0'85 —
37463 40786 -0.00
39914 47#51 :

-400

-300

-200

-100

!
Ll

I
140

S; 3.

E

39572
37456

37463

38777
47349

38108

39243



